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1. On the basis of the solubilty rules, which of
the following i insoluble?
9 KO0 @) (NH)S0
@) BaCaHi0a):
Sulbeln are $0T
Selublc

2 in SEEUEEKSEHOR, formation of which of

the following does not necessarily lead to &
chemical change?

PRACTICE TEST

6. Witethe balanced molecular equation for the
reaction of washing soda, NayCOs and vinegar,
HCH30;.

v M0, Hho D2t
Naoedy + ZHCiMal, = the rcDat
7. The net ionic equation for the above reaction is:

o r 2 Caty0, —> Hid = Con

2 Cotlh 0
8. How many moles of ' ar associaed Wi the

acid, HySO3, during neutralization?

2) HCH;05 4 HS D0 BH1 @2 93
b agcl nacl Bobh s g anailatly 4
9 €0y ‘oo wesd A PRECIPAATE, 9. Howmany moles AlpOs are needed to
A Gl oA o e noutralize | mole of HCI?  114)7
3. Reaction of an cid with a corbonat (such as s}n) A a6 i ALO,
CaCO3)always results i the formation of &% 9 n +HD
90, @ 05 92 e “ageons
B Comng (@ €Oy oo it AL0y - Mt 28000, 0
o Cy 10, Writethe et reaction that il ccur when

4. Which of the ollowing is incorrect?
) all sals containing NHy* ace soluble.
) all salts containing NO;- are soluble
(pall fuorides are soluble. Se Recle
9 allsulfaes (except those of Ca*, Sr2%, Ba",
and Pb2*) are soluble.
) mosthydroxides are insoluble, except those
of Ca*, $r2%, Ba*,the alkali metals and
NHg.

One of the gases shown below is NOT usually
formed in a metathesis reaction. Which one?

@n @) NH;
5 €Oy o s
<) SOy

solid ammonium carbonate s added 10 &
Solution of hydrosulfuric acid.
(M) COssy * HeS aw»&
Zugr + 5
1. When H3S0; and Ba(OH), are reacted in
D laihes cacion, one ofthe products of the

reactions..
W @ Batty
(@ 9 50
©) Bas PasOy 18 +he offer

12, Inthe metathesis reaction between the weak
acid, HC3H; 0z and svong bese, NeOH, which

(9 e spectator ions?

@ Ne', GOy d) Y, GOy

b) Nat, OB @) only

<) OH-only

e HCuly0n + NG voH™ > Lo + Nad
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15. Whichof e fllowing s n acid in aqueous

solutions? fral
@ mco; @ wo

b) ALO; 9 Bs%

o

3":';“ oasicy o avidss
1, SOnnmmwhiduudmnﬂm"

& HNO; @ Hs E?L
(B Hso o Hyo, FHO

o HiS0 by

n.
17, What s the oxidation number of C n 0052

246 @1 xeH-D=-2
(= o et
R
15, What s thecxidaton samberofBe i KBrO,2
D b g @47 9
4 X c4l-Dy=0  x=+7 =,

19, For cach change below, label the change of the
undeined clement 15 Oxidation, Reducton. or
Neiter
Roroar
O ansco.
R 10> HO
N_€0: - HeO,
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How many milliies of 0.123 M NaOH soluton
contain 25.0 g of NaOH (molar mass = 40.00

gy

o 508mL & esmL

Dsosml (D) somomL

Oml see pagu (€5

1 younced 100 L of0.125 M HiSO4 how

would you prepar this solution”

2) Add 950, mL of water 10 500 mL of 300 M
iS04

b) Add 500.mL of water fo S00. mL of 0500 M.
150,

©) Add 750 mL of wate t0 250 mL of 0375 M
HiS04

@) Dilte 36,0 mL of 125 M HS0s 108 voume.
of LOOL.

(3)Dilte 208 mL of 6.00 M H;S04 0. volume

ofL0L See pagir 445
Whatis theionconcenraion n .0.12 M sotion
ofBaCh?
) [Ba""] = 0.12 Mand [CT] = 0.12 M.
b) [Ba*] = 0.12 Mand [C1] = 0060 M.
#1012 Mand [CT] =0.24 M.
) [Ba"] = 0.060 M and [CT] = 0.060 M.
@ [Ba']=0.12 Mand [Ch] =0.12 M.

What s the molarity ofthe soluon that resuls
when 60.0 g NaOH i added o cnough water to
make 500, mL soluion?

1330 @ 5o
b 120M o 130:
(@300m

Sex pags “is
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940 @ 180M
b) 450M 9 146M
9324M

25, What s the concentation of CI-ion n 0.60 M
AICk souton?

Gyram @ 030m
b) 0.60 M <) 0.10M
©) 020M

26, How many grams of NaxC O3 (molar mass =
1060 gimol) sre required for complte reaction
With 250 mLof 0.155 M HNO?

NaxCO; + 2HNO; - 2NaNO3 + €Oy + HiO

v 0122¢ o 20sg
(®o20sg 9 205g
o 0410¢

27, What volume of 0,150 M NaOH is necded to
eact completely with 3.45 g iodine according 10
the equasion:
31+ 6 NaOH — 5 Nal + NalO3 +3 H:0

@il 4 204mL
s3I 9 1o2m
© 408mL

28, Whatis the concenation ofan NaOH soluton if i

takes 1625 mL of a 0.100 M HCl souton
tiate 25.00 mL of the NaOH soltion?

2 0.0165 M @ 0100M

) 015IM 9 0413M

@ﬂ 0650 M.

20, A 400 M soluton of F5PO willcontain_ of

H3PO, in 0250 L ofsolution.
9 196g @ 240y

(pssoe o 1208

9 490g
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